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%+ 25-1 HF/iLFEFR (ME = 6.328e-7m)

AdO = 0.00005 mm

do ds0 d100 d150 d200 d250
dm/mm 52.92515 | 52.94112 | 52.95692 | 52.97311 | 52.99925 | 53.00547
d300 d350 d400 d450 d500 d550
dm+300/mm | 53.02125 | 53.03702 | 53.05312 | 53.07898 | 53.08514 | 53.10089
Ad300/mm 0.09610 0.09590 0.09620 0.10587 0.08589 0.09542
Ad300/mmEH1E]| 0.09590
AFEIG{E/mm 6.393E-04
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A =6.304 x 107" m

S =6.324 x 103 mm
AN =4.216 x 10~ ®m

A= (6.304 £ 0.422) x 10~ "m
E, =1.03%

X B python #HATIHE, RLEBITERIT:

lambda_mean = 6.393e-07 m

S = 6.324e-03 mm

Alambda_mean = 4.216e-08 m

lambda_mean = 6.393e-07 +/- 4.216e-08 m
E_.r = 1.03Y%
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# DS

lambda_overline = 6.393e-4

delta_instrument = 0.00005

delta_d300_mm =

[0.09610, 0.09590, 0.09620, 0.10587, 0.08589, 0.09542]

# 1HH S
n = len(delta_d300_mm)

mean_delta_d300 = sum(delta_d300_mm) / n
g =

(sum((mean_delta _d300 - d) ** 2
for d in delta_d300_mm) / (n - 1))** 0.5

# 115 AB

delta_B = (2 * delta_instrument**2) ** 0.5




# 115 Alambda
delta_lambda = (2 / 300) * (S**2 + delta_B**2) xx 0.5

# U5 lambda, FALEEHLAK
lambda_overline *= le-3 # ##tA m
delta_lambda *= 1e-3 # ##t N n

# lambda_ 5
lambda_standard = 6.328e-7 # AV m

# 1% Er

E.r =

abs(lambda_standard - lambda_overline)
/ lambda_standard * 100

# fan A
print (f"lambda_mean = {lambda_overline:.3e} m")
print(f"S = {S:.3e} mm")
print(f"Alambda = {delta_lambda:.3e} m")
print(f"lambda = {lambda_overline:.3e}

+/- {delta_lambda:.3e} m")
print(f"E_r = {E_r:.2f}%")




